chapter 11  Organic chemistry and environmental chemisrty
知识归纳：

1． 有机化学：

a) 有机物都含有　　　　元素。

b) 每个碳原子周围都形成　　　　个共用电子对。

c) 有机物一般不溶解于　　　　　溶剂，却易溶解于　　　　　溶剂。（极性或非极性）
d) 有机物一般不能电离，属于　　　　　。（电解质或非电解质）

e) 同分异构体：

2． 烃：

a) 定义：

b) 烷烃：

i. 是否饱和？

ii. 通式：

iii. 写出前１０个烷烃的英文名字：

c) 烯烃：

i. 是否饱和？

ii. 通式：

iii. 官能团：

iv. 丁烯的英文名字：

d) 炔烃：

i. 是否饱和？

ii. 通式：

iii. 官能团：

iv. 已炔的英文名字：

e) 芳香烃：

i. 最简单的芳香烃是：

ii. 苯的分子式为：

iii. 苯是否具有极性？

3． 官能团和烃的衍生物：

a) 醇：

i. 官能团：

ii. 英文名：

iii. 命名方法：

b) 卤代烃：

i. 官能团：

ii. 英文名：

iii. 命名方法：

c) 有机酸：

i. 官能团：　　　　　　英文名：　　　　　　　　命名方法：

d) 胺：

i. 官能团：　　　　　　英文名：　　　　　　　命名方法：

e) 醛：

i. 官能团：　　　　　　英文名：　　　　　　　命名方法：

f) 酮：

i. 官能团：　　　　　　英文名：　　　　　　　命名方法：
g) 醚：

i. 官能团：　　　　　　英文名：　　　　　　　命名方法：
h) 酯：

i. 官能团：　　　　　　英文名：　　　　　　　命名方法：

4． 有机反应：

a) 加成反应：

i. 英文：　　　　　　　　有发生此反应的有：

ii. 举例：

b) 取代反应：

i. 英文：　　　　　　　　有发生此反应的有：

ii. 举例：

c) 聚合反应：

i. 英文：　　　　　　　　有发生此反应的有：

ii. 举例：

d) 裂化反应：

i. 英文：　　　　　　　　有发生此反应的有：

ii. 举例：

e) 氧化反应：

i. 英文：　　　　　　　　有发生此反应的有：

ii. 举例：

f) 酯化反应：

i. 英文：　　　　　　　　有发生此反应的有：

ii. 举例：

5． 重要的生物分子

a) 油脂：

i. 组成元素：

ii. 又称甘油三酯（triglyceride），包括油和脂两种，不溶于水。
iii. 结构：

b) 碳水化合物：

i. 组成元素：

ii. 单糖（monosaccharide）：如葡萄糖（glucose）。

iii. 多糖（polysaccharide）：如淀粉（starch）和纤维素（cellulose），它们单体都是葡萄糖。

c) 核酸（nucleinic acid）：

i. 组成元素：碳、氢、氧、氮、磷。

ii. 两种主要形式：

iii. 核酸为高聚物，其单体为　　　　　　。

d) 蛋白质：

i. 组成元素：

ii. 为高聚物，其单体为　　　　　　，单体中含有的官能团为　　　　　　。

6． 环境化学

a) 大气化学：

i. 大气层分为：

ii. 臭氧可以收　　　　　　　从而保护地球生物。

iii. 　　　　　　　　的排放是臭氧分解的主要原因。

b) 温室效应：

i. 引起温室效应的主要气体是　　　　　　　。

c) 酸雨：

i. 一般指PH小于5.6的雨水。

ii. 形成酸雨的气体主要是：　　　　　　　　　　　　　　　　。

d) 一氧化碳：
知识小结：

· Organic chemistry is the study of carbon compounds and environmental chemistry is chemistry of environment.
· Organic compounds are nonpolar so they don’t dissolve in water.

· Isomers are compounds that have the same chemical formula ,but a different geometrical arrangement of atoms.

· A hydrocarbon is a compound made of hydrogen and carbon.

· Alkanes are hydrocarbons with only single bonds, alkens are hydrocarbons with at least one double bond, and alknynes are hydrocarbons with at least one triple bond.

· Aromatic hydrocarbons are six carbon rings with alternating double bonds . The most common is benzene.
· Functional groups are groups of certain atoms that give organic compounds certain chemical properties.

· The name of an organic compound is given by a prefix that determines the number of carbons and a suffix that gives the functional group.

· The most common functional groups are alcohol( -OH),amine (-NH2) , halides (-F/-Cl/-Br/-I) ,carboxylic acid (-COOH) , aldehydes (-CHO), ketons (C=O),ethers(C-O-C),and esters (-COO-).
· The major type of organic reaction are addition , substitution, polymerization, cracking, combustion, esterification , and fermentation.
· The four major types of biomolecules are lipids, carbohydrates ,nucleic acids, and proteins.
· The earth’s atmosphere is about 78% nitrogen ,20% oxygen, and less than 1% argon. Carbon dioxide ,neon, helium, methane, krypton ,hyzdrogen, nitrous oxide, and xenon are also present in trace amounts.

· Ozone ,O3, protects the earth by absorbing high-energy radiation from the sun. It is destroyed by chlorofluorocarbons released into the atmosphere by spray cans and car air conditioners.
· The greenhouse effect refers to the buildup of CO2,and other carbon gases in the atmospheres .As the earth’s surface absorbs solar radiation, it warms and radiates infrared back into the atmospheres .The extra CO2 reflects and traps this radiation ,causing the earth warm.

· Nitrogen and sulfur oxides produced by pollution interact with water in the atmosphere to produce acid rain which harmful to organisms and human-made structures.
Practise

Question type A

Question1-4 refer to the following

A. HBr(aq)

B. NH3(aq)

C. H2O(l)

D. HF(aq)

E. H2CO3(aq) 

1.A trip of litmus paper will appear blue in it

2.At 25℃,it has a ph ＞７

3.Is essentially a nonelectrolyte

4.Its aqueous ionization goes virtually to completion

Question type B

1.I  If an acid is added to water with an original ph of 7 ,the concentration of hydroxide ions will increase 

BECAUSE

II The product of hydroxide ions and protons if equal to 1.0×10-14 in all aqueous solutions at 25 ℃
2. I An aqueous solution of HI is considered to be a Bronsted-lowry base

BECAUSE

II HI(aq) can accept an H＋ ion from another species
Question type C

1.HNO3(aq)+OH－(aq)
[image: image1.wmf] 

H2O(l)+NO3-(aq) in the reaction above ,which species is the conjugate acid?

A .HNO3(aq)

B.OH-(aq)

C.H2O(l)

D.NO3-(aq)

E.There is no conjugate acid in the above reaction

2.A tritration experiment is conducted in which 15 milliliters of 0.015 M Ba(OH)2 solution is added to 30 milliliters of an HCl of unknown concentration and titration is complete. what is the approximate concentration of the HCl solution?

A.0.015 M

B.0.03 M

C.1.5 M

D. 2.5 M

E. 3.0 M

3.which is true regarding an aqueous solution of H3PO4 at 25℃?

A. It has a very large acid ionization constant

B. It has a bitter taste

C. The concentration of [OH－]＞1.0×10-7M

D. It is a weak electrolyte

E. It can be formed by the reaction of metal oxide and water
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